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For any -1 ay e- 1
,
there exists one x such that

sin Cx) =y and -72sec I +12

The un-

que se ifdmoe-s.my) .

sin Casrcsin(y)) -_y and -Is arcsince) Etlz



Let Ocx>=iD → O E EE, is the angle

such that since)=x

Use implicit differentiation :

Not that sin Cocx)) = x

Csincocxs)) =
I

⇒ coscocxs) . O'Cx) =
1

⇒ do
cocoa,)

= 1-
DI
=

£

cos(aresin )

we can simplify this more !



What is coscarcsinox))
c2=a2+b2

c-
sin 0 = 1- ,

ceresin (E)=D¥-6: b
,

a

Draw the night angled triangle for
ceresin ( Eg )

?

>arcsincx}
⇒ cos(are since>) =

¥2
7-

I find derivatives

so
, arcsincx = lascars

in )

= ¥-2 .

of other inverse

trigg
FGD we know -5¥ .#pose gb

is the
inverseoff .



Meanvotuelheornem average speed is-

'¥33¥÷
.

is
.

I 1 >
time

7 A a

police1 police 2

After a phone call between police 1 and police 3 police
2 fines the driver for going 110 km/hr at some point
between 1-& B . 6h?

At some point beteeenAverage speed = 110 km/hr ⇒ AIB
, instantaneous speed

was 110 Km/hr .



\

dkenvdieelheorem-hm-o.LI
a< b be real numbers

. Let for) be a

function so that :

• fcx) is continuous on the closed interval as
x e- b

• fcx) is differentiable on the open
interval ←✗<b

Fon , there exists a point
C C- Ca,b) such

that :

•

f-
'
(c) = fCb)-f
em

slopeof b-I.se
.

targetline slope of
at c

line .



Example
consider for> = 3×2-4×+2 on El, 13 .

Does MVT app5ÑFx) on 5-1,73 .

• fcx) is a polynomial , hence its
continuous anddifferentiable

in the internal .
So
,
MVTapplies .

E-

Find all values C in El, B guaranteed by MVT.

Let c. bea point where

+""=f9¥=÷= -4

end f-
'
Cx> = 6×-4

Hence f-
'
cc) = Gc-* = -4 ⇒ c=0



R.elatedrates.AEA 5m face ladder is leaning againts a wall
. The

floor is slippery and He base of ladder slides

at from one at - rate 't '→ • ?

Ézysmtoo fast is the top of the ladder In

sliding down when the base of
the ladder is 3m from the coach

✓¥
-¥m1s↳¥ :

act is the distance of ladder to the wall attimelyCt is the distance of topof bolder to the ground
at time to

Given: odct) = I mls . Find y
' than ✗Ct -3m .



ra-hofchoye.me
know : Jeet yet)

to find y
' (f) , differentiate both sides :

xcti-ddzs.CI = 0
⇒ 2 sect . sdct + Qyct)

-

y
'Ct = 0

IIMs ?_?

End yet when xct-- 3 :

a. + set)2= 25 ⇒ set> = 4¥¥qyz
Lofty : 6 -1 2.4 y'(f) = 0

⇒ b'(f) = -61g = - 31g Mls . V=§xr2h


